Osby BK

Partavling 2020-03-09

Partavling, 4 bord, 8 par. Antal brickor: 28. Medel: 84.0.

Plac Par Poang % Namn MID Klubb

1 1 104 61.90 Horst Raudszus - Sven Gunnar Nordh 4652 43021 Osby BK

2 2 103 61.31  Knud Littau - Zerny Gostasson 52959 22687 Osby BK - Hastveda BK

3 5 94 55.95  Peter Raudszus - Gunhild Raudszus 6395 467 Hastveda BK - Osby BK

4 7 91 54.17  Lars Ranbro - Karin Ranbro 88905 88906 Hastveda BK

5 6 83 49.40  Stellan Braun - Lilly Ivarsson 54212 29542 Oshy BK

6 4 78 46.43  Gerd Henningsson - Lennart Karlsson 43033 53169 OsbyBK

7 3 60 35.71  Annica Gustafsson - Claes-Goran Stadler 59536 25855 Osby BK

8 8 59 35.12  Arne Carlsson - Jonny Stark 26296 461 Osby BK
1 Nord Ingen 2 OstNS 3 Syd OV 4 Vast Alla
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
65 3N0O-1 ¢Q 50 4.020|73 3NV-1 ¢2 50 6000[(65 24S= 49 110 6.000(7 3 3vV+1l #4 -170 6.0 0.0
73 3NO-1 #2 50 4020(65 2NO+2 44 -180 4.020(4 2 2¢ O= vA -90 204.0|81 4vV= &7 -620 4.0 2.0
81 3NO-1 ¢J 50 402042 3NO+1 T -430 1.0 50(7 3 INV= 49 90 2.040(4 2 4vV+1l ¢A -650 1.0 5.0
42 14 O+3 &2 -170 0.06.0|/8 1 3NO+1 49 -430 1.050(81 2¢ O= &J 90 204.0(|65 4vV+1l «J -650 1.0 5.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
14 2¢ N+2 ¢5 130 5010|14 5¢V= T -600 6.000(53 3«N+1 ¢2 130 6.000|53 2¢vN= 46 110 6.0 0.0
53 2¢ N+2 ¥4 130 5.010(7 6 5¢ V+1 45 -620 4.0 20(7 6 3¢ V-1 &K 100 4020|14 2vN-1 «A -50 20 4.0
76 2¢ N+1 #9 110 2.0 4.0(53 4NV+3 4J -720 1.050(1 4 44#N-1 ¢2 -100 20 4.0|7 6 3v N-1 T -50 2.0 4.0
82 2vO+1 ¢9 -140 0.06.0(8 2 3NV+4 45 -720 1.050(8 2 3vV= &K -140 006.0|8 2 2NN-1 «T -50 2.0 4.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
83 4y N+1 42 450 6.00.0]|25 6NO-1 v9 100 6.000(17 4vO-1 ¢A 50 6.000(17 24S-1 &K -100 6.0 0.0
17 4vN= ¢7 420 3030|64 34V= &8 -140 4020(25 464 V= &8 -420 303025 2¢v0= &A -110 2.0 4.0
25 4vS= 99 420 3.03.0(83 3NO= &5 -600 2.040(6 4 44V= ¢Q -420 3.030|6 4 2vV= &6 -110 2.0 4.0
64 2NS+2 48 180 006017 3NO+2 #4 -660 0.0 6.0(8 3 44 V+1l ¢Q -450 00 6.0|8 3 2v V= 46 -110 2.0 4.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
75 5¢V-4 9K 400 6.000(75 2NN+2 47 180 50 10(21 2¢ N= ¢K 110 50 10|21 3NS+1 «K 430 5.0 1.0
36 4¢V-3 45 300 4020(84 2NN+2 ¥3 180 50 10|75 2¢vN= 44 110 501036 3NS+1 «K 430 50 1.0
84 3vS+4 #4 260 2040|221 2NN+1 47 150 204.0(3 6 24 0-1 ¢v5 50 2040|75 2NS-1 «K -50 1.05.0
21 3vS+l 4J 170 006.0(3 6 3«#N+1 47 130 006.0(84 2¢ N-2 #9 -200 0.06.0|8 4 3NS-1 5 -50 1.0 5.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
16 3NN-1 4Q -50 3030(16 3y N+1 #A 170 6.0 004 7 44 N= T 420 6.000|16 INO+4 ¢6 -210 6.0 0.0
32 3NS-1 44 50 3.03.0(4 7 2y N+1 &T 140 3030(3 2 24S+2 47 170 402047 INO+6 8 -270 4.0 20
47 49 N-1 4Q 50 3.030(85 3y N= ¢K 140 3030|16 24 N+1 #Q 140 204032 3NV+l 46 -630 2.0 4.0
85 4¢vy N-1 45 -50 3.030(|32 2NS-2 +2 -200 006.0|85 44 N-1 #Q -50 006.0(85 3NO+2 46 -660 0.0 6.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
51 3NS+2 ¢T 660 6.000(51 3NN+1 43 430 6.000(4 3 24 N= &T 110 6.000|2 7 44 N= 46 420 6.0 0.0
43 4vyN-1 46 -100 40 20|27 3NS= ¢K 400 3030|86 24 N-1 &T -100 4.0 20(4 3 34 N+3 &3 230 4.0 20
86 6vDN-2 4K -500 2.040(8 6 3NS= &7 400 3.030(27 4¢0+1 4Q -150 20 4.0|8 6 24 N+2 ¥2 170 2.0 4.0
27 6vyDN-3 4K -800 0.060(4 3 2NN-2 #3 -100 006.0(51 34 N-2 T -200 006.0|51 24 N+1 #4 140 0.0 6.0
25 Nord OV 26 Ost Alla 27 Syd Ingen 28 Vast NS
Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang |Par Kontr Ut Res Poang
54 3y N= &A 140 50 10(54 3NS= 2 600 5010(54 3¢V-4 vA 200 600062 54DO-4v4 800 6.0 0.0
87 3y N= 4K 140 50 10(6 2 3NS= ¢K 600 5010(62 44S-1 K -50 3.030|54 44S= &A 620 4.020
31 24S-1 4Q -50 2040(3 1 24 0= vK -110 2040(8 7 2¢ N-1 T -50 3.03.0(8 7 4¢DO-2v4 300 20 4.0
62 24 0= vA -110 006.0(8 7 3NN-2 4K -200 0.06.0(3 1 4vDN-3 #K -500 006.0|31 44S-2 T -200 0.0 6.0
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